Proposed Culvert Replacement Franklin Street over Horne Brook, Derry, NH (#8586795)

Owner: Town of Derry, NH

Solicitor: Hoyle, Tanner & Associates, Inc. - Manchester

08/04/2023 02:00 PM EDT

_				
-	ngın	eer	Estimate	
ᆫ	HISHI	CCI	LJUITIALC	

				Engineer Estimate	
Section Titl Line Item	Item Code	Item Descr UofM	Quantity	Unit Price	Extension
Construction Project					\$696,145.00
1	201.1	CLEARING , A	0.05	\$50,000.00	\$2,500.00
2	201.882	INVASIVE S SY	300	\$10.00	\$3,000.00
3	202.41	REMOVAL (LF	88	\$50.00	\$4,400.00
4	202.42	REMOVAL (LF	112	\$150.00	\$16,800.00
5	202.5	REMOVAL (EA	2	\$1,000.00	\$2,000.00
6	203.1	COMMON CY	200	\$20.00	\$4,000.00
7	203.6	EMBANKM CY	15	\$25.00	\$375.00
8	206.19	COMMON CY	10	\$100.00	\$1,000.00
9	207.3	UNCLASSIF CY	50	\$30.00	\$1,500.00
10	209.201	GRANULAR CY	315	\$75.00	\$23,625.00
11	214	FINE GRAD U	1	\$3,000.00	\$3,000.00
12	304.3	CRUSHED (CY	125	\$45.00	\$5,625.00
13	304.31	CRUSHED (CY	30	\$100.00	\$3,000.00
14	304.35	CRUSHED (CY	5	\$100.00	\$500.00
15	403.1102	HBP-3/4" BTON	60	\$135.00	\$8,100.00
16	403.1104	HBP-1/2" S TON	35	\$150.00	\$5,250.00
17	403.12	HOT BITUNTON	5	\$250.00	\$1,250.00
18	403.16	PAVEMENT LF	570	\$2.00	\$1,140.00
19	410.22	ASPHALT E GAL	15	\$25.00	\$375.00
20	417	COLD PLAN SY	50	\$30.00	\$1,500.00
21	503.101	WATER DI\U	1	\$35,000.00	\$35,000.00
22	503.201	COFFERDALU	1	\$100,000.00	\$100,000.00
23	504.1	COMMON CY	550	\$40.00	\$22,000.00
24	504.2	ROCK BRID CY	25	\$150.00	\$3,750.00
25	508	STRUCTUR, CY	50	\$100.00	\$5,000.00
26	529.001	PRECAST CIU	1	\$145,000.00	\$145,000.00
27	534.3	WATER REFGAL	5	\$150.00	\$750.00
28	538.2	BARRIER MSY	110	\$50.00	\$5,500.00
29	538.5	BARRIER MSY	67	\$50.00	\$3,350.00
30	562.1	SILICONE J(LF	40	\$25.00	\$1,000.00
31	570.99	DRY SQUAFLF	14	\$1,500.00	\$21,000.00
32	583.3	RIPRAP, CL CY	100	\$100.00	\$10,000.00
33	592.3	CONCRETE SF	455	\$100.00	\$45,500.00
34	593.411	GEOTEXTIL SY	210	\$8.00	\$1,680.00
35	603.0032	15" R.C. PIFLF	30	\$150.00	\$4,500.00
36	603.3612	15" ALUMI EA	1	\$200.00	\$200.00
37		15" PE PIPELF	80	\$75.00	\$6,000.00
38	603.9902	15" TEMPC LF	30	\$50.00	\$1,500.00
39	604.0007	POLYETHYL EA	2	\$300.00	\$600.00

40	604.124 CATCH BAS U	2	\$3,000.00	\$6,000.00
41	604.51 RECONSTRILF	1	\$800.00	\$800.00
42	609.811 BITUMINO LF	110	\$25.00	\$2,750.00
43	611.0521 6" CEMENT LF	4	\$250.00	\$1,000.00
44	611.0521 8" CEMENT LF	110	\$350.00	\$38,500.00
45	611.5102 1 1/2" COR EA	1	\$250.00	\$250.00
46	611.7001 6" FITTING EA	2	\$900.00	\$1,800.00
47	611.7001 8" FITTING EA	2	\$1,500.00	\$3,000.00
48	611.7101 8" GATE V <i>F</i> EA	2	\$2,500.00	\$5,000.00
49	611.77 CHLORINE EA	1	\$2,000.00	\$2,000.00
50	611.9514 BOARD INS SY	5	\$60.00	\$300.00
51	611.992 TEMPORAFU	1	\$5,000.00	\$5,000.00
52	612.3104 SEWER MAVF	7	\$600.00	\$4,200.00
53	612.6151 10" PVC SE LF	80	\$250.00	\$20,000.00
54	619.1 MAINTENA U	1	\$7,500.00	\$7,500.00
55	619.25 PORTABLE U	2	\$4,600.00	\$9,200.00
56	622.1 STEEL WITI EA	2	\$75.00	\$150.00
57	628.2 SAWED BIT LF	90	\$10.00	\$900.00
58	645.0002 SEDIMENT, U	1	\$5,000.00	\$5,000.00
59	645.44 TEMPORAFSY	165	\$10.00	\$1,650.00
60	645.512 COMPOST LF	300	\$6.00	\$1,800.00
61	645.531 SILT FENCE LF	300	\$8.00	\$2,400.00
62	645.7 STORM W <i>F</i> U	1	\$3,000.00	\$3,000.00
63	645.72 MONITORII EA	20	\$200.00	\$4,000.00
64	646.512 TURF ESTA SY	445	\$15.00	\$6,675.00
65	692 MOBILIZAT U	1	\$60,000.00	\$60,000.00
66	697.11 INVASIVE S U	1	\$2,000.00	\$2,000.00
Allowance Erosion and	Sediment Control			\$5,000.00
67	699 MISCELLAN\$	5000	\$1.00	\$5,000.00
Base Bid Total:				\$701,145.00

NorthEast Earth Mechanics, LLC		R.M. Piper, Inc.		Sargent Corp	
Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
Office Fride	\$838,840.00	Office Fried	\$859,986.25	OTHE T TICE	\$977,900.00
\$125,000.00	\$6,250.00	\$10,000.00	\$500.00	\$100,000.00	\$5,000.00
\$10.00	\$3,000.00	\$10.00	\$3,000.00	\$7.00	\$2,100.00
\$25.00	\$2,200.00	\$60.00	\$5,280.00	\$25.00	\$2,200.00
\$25.00	\$2,800.00	\$200.00	\$22,400.00	\$75.00	\$8,400.00
\$500.00	\$1,000.00	\$1,200.00	\$2,400.00	\$1,000.00	\$2,000.00
\$21.00	\$4,200.00	\$20.00	\$4,000.00	\$30.00	\$6,000.00
\$21.00	\$315.00	\$30.00	\$450.00	\$50.00	\$750.00
\$75.00	\$750.00	\$150.00	\$1,500.00	\$200.00	\$2,000.00
\$50.00	\$2,500.00	\$40.00	\$2,000.00	\$45.00	\$2,250.00
\$34.00	\$10,710.00	\$60.00	\$18,900.00	\$85.00	\$26,775.00
\$2,000.00	\$2,000.00	\$8,000.00	\$8,000.00	\$2,500.00	\$2,500.00
\$54.00	\$6,750.00	\$60.00	\$7,500.00	\$90.00	\$11,250.00
\$54.00	\$1,620.00	\$60.00	\$1,800.00	\$95.00	\$2,850.00
\$54.00	\$270.00	\$60.00	\$300.00	\$100.00	\$500.00
\$285.00	\$17,100.00	\$220.00	\$13,200.00	\$220.00	\$13,200.00
\$285.00	\$9,975.00	\$220.00	\$7,700.00	\$220.00	\$7,700.00
\$285.00	\$1,425.00	\$220.00	\$1,100.00	\$220.00	\$1,100.00
\$4.50	\$2,565.00	\$2.00	\$1,140.00	\$2.00	\$1,140.00
\$40.00	\$600.00	\$42.50	\$637.50	\$44.00	\$660.00
\$60.00	\$3,000.00	\$40.00	\$2,000.00	\$44.00	\$2,200.00
\$25,000.00	\$25,000.00	\$38,500.00	\$38,500.00	\$65,000.00	\$65,000.00
\$25,000.00	\$25,000.00	\$150,000.00	\$150,000.00	\$66,000.00	\$66,000.00
\$30.00	\$16,500.00	\$25.00	\$13,750.00	\$30.00	\$16,500.00
\$350.00	\$8,750.00	\$150.00	\$3,750.00	\$200.00	\$5,000.00
\$52.00	\$2,600.00	\$60.00	\$3,000.00	\$130.00	\$6,500.00
\$350,000.00	\$350,000.00	\$130,000.00	\$130,000.00	\$228,250.00	\$228,250.00
\$90.00	\$450.00	\$100.00	\$500.00	\$400.00	\$2,000.00
\$50.00	\$5,500.00	\$100.00	\$11,000.00	\$30.00	\$3,300.00
\$100.00	\$6,700.00	\$120.00	\$8,040.00	\$55.00	\$3,685.00
\$35.00	\$1,400.00	\$30.00	\$1,200.00	\$45.00	\$1,800.00
\$1,275.00	\$17,850.00	\$900.00	\$12,600.00	\$1,200.00	\$16,800.00
\$47.00	\$4,700.00	\$90.00	\$9,000.00	\$225.00	\$22,500.00
\$100.00	\$45,500.00	\$120.00	\$54,600.00	\$200.00	\$91,000.00
\$5.00	\$1,050.00	\$5.00	\$1,050.00	\$3.50	\$735.00
\$135.00	\$4,050.00	\$120.00	\$3,600.00	\$165.00	\$4,950.00
\$350.00	\$350.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
\$90.00	\$7,200.00	\$130.00	\$10,400.00	\$175.00	\$14,000.00
\$90.00	\$2,700.00	\$175.00	\$5,250.00	\$200.00	\$6,000.00
\$200.00	\$400.00	\$260.00	\$520.00	\$400.00	\$800.00

\$5,100.00	\$10,200.00	\$4,300.00	\$8,600.00	\$7,000.00	\$14,000.00
\$1,000.00	\$1,000.00	\$675.00	\$675.00	\$700.00	\$700.00
\$25.00	\$2,750.00	\$25.00	\$2,750.00	\$22.00	\$2,420.00
\$200.00	\$800.00	\$110.00	\$440.00	\$300.00	\$1,200.00
\$200.00	\$22,000.00	\$110.00	\$12,100.00	\$195.00	\$21,450.00
\$3,200.00	\$3,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00
\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$800.00	\$1,600.00
\$575.00	\$1,150.00	\$1,200.00	\$2,400.00	\$1,000.00	\$2,000.00
\$3,000.00	\$6,000.00	\$3,800.00	\$7,600.00	\$5,000.00	\$10,000.00
\$3,600.00	\$3,600.00	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00
\$60.00	\$300.00	\$50.00	\$250.00	\$125.00	\$625.00
\$6,200.00	\$6,200.00	\$8,500.00	\$8,500.00	\$5,000.00	\$5,000.00
\$1,350.00	\$9,450.00	\$1,200.00	\$8,400.00	\$1,000.00	\$7,000.00
\$450.00	\$36,000.00	\$180.00	\$14,400.00	\$500.00	\$40,000.00
\$15,000.00	\$15,000.00	\$32,800.00	\$32,800.00	\$25,000.00	\$25,000.00
\$3,500.00	\$7,000.00	\$6,000.00	\$12,000.00	\$6,000.00	\$12,000.00
\$100.00	\$200.00	\$40.00	\$80.00	\$250.00	\$500.00
\$6.00	\$540.00	\$3.25	\$292.50	\$15.00	\$1,350.00
\$1,000.00	\$1,000.00	\$2,200.00	\$2,200.00	\$9,500.00	\$9,500.00
\$5.00	\$825.00	\$22.00	\$3,630.00	\$4.00	\$660.00
\$7.50	\$2,250.00	\$8.00	\$2,400.00	\$8.00	\$2,400.00
\$7.50	\$2,250.00	\$3.00	\$900.00	\$3.00	\$900.00
\$13,000.00	\$13,000.00	\$20,600.00	\$20,600.00	\$7,500.00	\$7,500.00
\$300.00	\$6,000.00	\$210.00	\$4,200.00	\$200.00	\$4,000.00
\$11.00	\$4,895.00	\$2.25	\$1,001.25	\$100.00	\$44,500.00
\$75,000.00	\$75,000.00	\$140,000.00	\$140,000.00	\$98,000.00	\$98,000.00
\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00
	\$5,000.00		\$5,000.00		\$5,000.00
\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
	\$843,840.00		\$864,986.25		\$982,900.00